Thus: Let
$$y_1, y_2$$
 be solutions to $Ly = 0$ on (α, β) . If
 $y_1y_2' - y_1'y_2 \neq 0$, anywhere in (α, β)
 $y_1y_2' - y_1'y_2 \neq 0$, then $y = c_1y_1 + c_2y_2$ is the
general solution to $Ly = 0$.

$$y_{0} = y_{1}t_{0} = c_{1}y_{1}(t_{0}) + c_{2}y_{2}(t_{0})$$

$$y_{0}' = y'_{1}t_{0} = c_{1}y_{1}'(t_{0}) + c_{2}y_{2}'(t_{0})$$

$$(y_{1}t_{0}) \quad y_{2}(t_{0}) = (y_{1}) + c_{2}y_{2}'(t_{0})$$

$$(y_{1}t_{0}) \quad y_{2}'(t_{0}) = (y_{0})$$

$$(y_{0}) = (y_{0})$$

Solution exists and is unique if the determinant is non-zero: $y_1(b_0) y'_1(t_0) - y_2(t_0) y''_1(b_0) \neq 0$. Therefore, for any to $\varepsilon(\alpha, \beta)$, we can compute unique c_1, c_2 .

Thus: Let
$$p_{iq}$$
 be continuous on $(\alpha_i\beta)$ and let $g_{ir}g_2$ be two
solutions to $J_{y=0}$. Then $W[g_{ir}g_2] = 0$ identially, or is never
equal to 0 on $(\alpha_i\beta)$.

2

Proof: First, note that
$$W$$
 satisfies the ODE:
 $W' + p(t) W = O$.

$$J_{vst} \quad compute \quad W':$$

$$W/tt = y_{1}/t_{1} y_{2}'(t_{1}) - y_{1}'/t_{1} y_{2}/t_{1}$$

$$= y_{1}'y_{2}' + y_{1}y_{2}'' - y_{1}''y_{2} - y_{1}'y_{2}''$$

$$= y_{1}y_{2}'' - y_{1}''y_{2}$$
Also, $y_{1}'' = -p/t_{1} y_{1}' - q/t_{1} y_{1}$

$$y_{2}'' = -p/t_{1} y_{2}' - q/t_{1} y_{2}$$
And therefore:

$$W' = y_1 \left(-py_2' - qy_2 \right) - \left(-py_1' - qy_1 \right) y_2$$

$$= -py_1y_2' - qy_1y_2 + py_1y_2 + qy_1y_2$$

$$= -pW$$

Given that $W' + pW = 0$, then
 $Wt = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $Wt = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl} \underbrace{f_{kl}}_{pkl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl}$
 $V = 0$, $f_{kl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl} \underbrace{f_{kl}}_{pkl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl} = C \underbrace{e}_{pkl} \underbrace{f_{kl}}_{pkl} \underbrace{f_{k$

$$\frac{(vregender)}{Proof}: If W[y_1,y_2] = 0, then the mast a number of solution to:
$$\frac{(y_1^{(m)} y_1^{(m)})(c_1)}{(y_1^{(m)} y_1^{(m)})(c_2)} = \binom{0}{0}.$$

$$=7 \quad c_1y_1 + c_2y_2 = 0$$

$$= y_1 also a solution of $y = 0, y(a) = y'(b_0) \cdot 0,$

$$Here Fore \quad y_1 = \frac{c_1}{c_1} y_2 \cdot$$

$$Linear equation with constant coefficients$$
First special cases:

$$Ju = au'' + bu' + cu = 0$$

$$a_1b_1c \quad are roustants.$$

$$\frac{Ansatz}{V} = y = Ce^{rt}, for "some" r.$$

$$Interver diprodume on t''$$

$$Ex' If u = t''$$

$$Hur u' = nt^{n-1}, u'' = n(n-1)t^{n-2}.$$

$$It is unlikely that we can choose in such that
$$a_1(n-1)t^{n-2} + b_1t^{n-1} + ct'' = 0.$$$$$$$$

can find r such that
$$(ar^2 + br + c)e^{rt} = 0$$

 7
 $\pm 0 e^{rer}$.

The equation
$$ar^2 + br + c = 0$$
 is the characteristic equation
for $Ly = au'' + bu' + cu = 0$,

Its routs can be determined from the guidratic equator:

$$r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$r_1 = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$r_2 = \frac{-b - \sqrt{b^2 - 4ac}}{2a}$$

If $r_1 \pm r_2$, then we have two linearly-independent solutions $u_1 = e^{r_1 t}$ and $u_2 = e^{r_2 t}$ since

$$W[u_{1}, u_{2}] = u_{1}u_{2}' - u_{1}'u_{2}$$

$$= e^{f_{1}t}r_{2}e^{f_{2}t} - r_{1}e^{f_{1}t}e^{f_{2}t}$$

$$= (r_{2}-r_{1})e^{(r_{1}+r_{2})t} \pm 0 \quad \text{if} \quad r_{1} \neq r_{2},$$

$$\left(address \quad r_{1}=r_{2} \text{ later}\right)$$

Example:

$$u'' - 3u' + u = 0$$

 $u'' - 3u' - 4u = 0$, $u(0) = 1$, $v'(0) = 0$,